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INSTRUCTIONS TO THE CANDIDATES
. This Question Booklet is printed in Hindi and English languages. Candidates should select any ane of
the two languages according to their convenience:

. The Question Booklet contains 100 quesl':nns. The examinee should verify that the requisite number
of questions are printed in the Question Booklet, otherwise he/she should ask for another Question
Bookler.

. All questions are compulsory.
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. The cover page indicates the number of pages in the Question Booklet. The examinee should verify that
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another Question Booklel.

. Read carefully the instructions given on the Answer Sheet supplied and indicate your answers
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Kindly make necessary entries on the Answer Sheet only at the places indicated and nowhere else.

. Examinee should do all rough work on the space meant for rough work in the pages given at the end of
the Question Booklet and nowhere else, not even on the Answer Sheet.

. If there is any sort of mistake either of printing or of factual nature in any question, then out of the Hindi
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A boat sails 15 km of a river towards upstream
in 5 hours. How long (in hours) will it take

to cover the same distance downstream, if

the speed of river is one-fourth the speed
of the boat in still water ?

(A) 1.8
i3 3
(C] 4
(D) 5

The stream flows at 1 kmph. A motor boat
goes 35 km upstream and back to the

starting point in 12 hours. The speed of

the motor boat (in kmph] in still water is

(A) 8
(B} ©
(C) 7.5
(D) 5.5

If 1.5x = 0,04y, then the value of
(ly =x] [y +x])is

(A} 73/77
By 7.3/77
S L
(Cy 730777

(D) 7300777

What would be the value of
I =0.3x003x0003x30°7?

(A 0.0000243
(B) 0.000243
(C) 0.00243

(D) 0.0243

S/FIPI11/2019/ 2-A

Find out the right answer for the question
mark (?) shown below.
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(A) 23
(B) 32
(€ 12
D) 14

Identify the right figure from the given
multiple choices for the question mark (?)
shown below to continue the series.
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You are a hostel manager. New students are
expected to join at the start of the semester.
What will you do ?

(A) Will apprise the authorities about the
prevailing problems

(B} Will apprise the authorities about the
prevailing problems and try to get them
fixed before the new students arrive

(C) Will apprise the authorities about
anticipated and prevailing problems
and try to get them fixed before the
new students arrive

(D}  Will wait for the new students to arrive
and report the problems

You live in a multi-storied apartment,
There is water seepage in the totlet of
your neighbour, which is just below your
tailet. The seepage seems o originate from
your toilet. A plumber visits to fix your
neighbours problem. What will you do ?

(A} Will ask him not to bother you
(B) Will let him in and fix the problem

(C) Will ask him to come on a weekend as
it would take a lot of time and that you
have work to do

(D} Will allow the repair to be done in your
toilet provided your neighbour bears
the repair cost

You receive an e=mail asking for your bank
login and password. What will you do ?

(A) Will send your bank details at the
earliest

(B) Will delete the e-mail and forget
about

(C) Will reply to know why they need to
verify the bank login and password

{D) Will not respond to the sender and
forward the e-mail to the concerned
authority

S/F/P/11/2019/ 2-A

10.

11.

12,

13.

14.

You buy a bottle of packed walter on a street
and end up emptying the bottle. What will
vou do ?
(A} Will keep the bottle and dispose in
a garbage bin
(B) Will throw it as you go along
(C) Will throw 1t in a drain
(D) Will find a dirty place and throw it

there

You have a difference of opinion with
somebody, how you would express mosl
humbly ?

(A) You are wrong!

(B) You speak rubbish

({C) ¥You don't know about it

(D) 1don't agree with your opinion

In a class of some students standing in a
straight line, the position of Ramu is 11™
from left end and 41* from right end. How
many students are there in the class ?
(A) 50

(B) 51

(€] 52

(D) 53

Heads of governments of almost all the

countries have decided to take many urgent

initiatives to address the climate change

issue, This shows that

(A} There were no steps taken in the
past

(B} The steps taken in the past were very
good

(C) The effects of climate change are more
severe today

(D) There is unnecessary pressure on the
heads of governments now

The new Principal of the school has urged

each student in the school to do yoga on a

regular basis. This implies that

(A) The Principal thinks that yoga is as
important as studies

(B) All students were doing voga but
not regularly before he took over as
Principal

[C) There was no yoga practice before he
took charge

(D) He feels that yoga is good for physical
and mental health of the children

[ P.T.O.
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15. A is B's sister. C is B's mother. Dis Cs
father. E is D's mother. Then, how is A
related to D ?

(A} Grandfather
(B] Daughter
(C) Grandmother

(D) Granddaughter

16. A cabhasanaverage speed of 60 km /hr while
going from Indore to Ujjain and has an
average speed of X km/hr while returning
the same distance from Ujjain to Indore. If
the average speed of the cab for the whole
journey is 48 km/hr, the value of X is

(A) 45 km/hr
(B} 40 km/hr
(C) 36 km/hr
(D) 30 km/hr

Directions [Question Nos. 17 - 21) : Read the
following excerpt and answer the questions asked
at the end. The answers to the questions should
be based on the excerpl.

There 18 increasing evidence that the impacts of
meteorites have had important effects on Earth,
particularly in the field of biological evolution.
Such impacts continue to pose a natural hazard
to life on Earth. Twice in the twentieth century,
large meteorite objects are known to have collided
with Earth. If an impact is large enough, it can
disturb the environment of the entire Earth
and cause an ecological catastrophe. The best-
documented such impact took place 65 million
years ago at the end of the Cretaceous period of
geological history. This break in Earth's history
is marked by a mass extinction, when as many
as half the species on the planet became extinet.

S/F/P/I1/2019/ 2-A

While there are a dozen or more mass extinctions
in the geological record, the Cretaceous mass
extinction has always intrigued paleontologists
hecause it marks the end of the age of the
dinosaurs, For tens of millions of years, those
great creatures had flourished. Then, suddenly,
they disappeared. The body that impacted
Earth at the end of the Cretaceous period was
a meteorite with a mass of mare than a trillion
tons and a diameter of at least 10 kilometers
Scientists first identified this impact in 1980 from
the worldwide layer of sediment deposited from
the dust cloud that enveloped the planet after
the impact. This sediment layer is enriched with
the rare metal Indium and other elements that
are relatively abundant in a meteorite but very
rare in the crust of Earth. Even diluted by the
terrestrial material excavated from the crater,
this compotient of meteorites is easily identified.
By 1990, geologists had located the impact site
itself in the Yucatan region of Mexico. The crater,
now deeply buried in sediment, was originally
about 200 kilometers in diameter.

17. Why does the author include the information
that dinosaurs had flourished for tens
of millions of vears and then suddenly
disappeared ?

(A) To explain why paleonteologists
have always been intrigued by the
mass extinction at the end of the
Cretaceous period

(B) To support the claim that the mass
extinction at the end of the Cretaceous
period is the best-documented of the
dozen or so mass extinctions in the
geological record

(C) To explain why and how as many as
half of the species on Earth at the time
are believed to have become extinet at
the end of the Cretaceous period

(D) To provide evidence that an impact
can be large enough to disturb the
environment of the entire planet and
cause an ecological disaster

[ P.T.O.
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18.

19.

20.

Which of the following can be iferred
about the location of the meteorite impact

in Mexico ?

(A) Geologists knew that there had been
an impact before they knew where it
had occurred

.

(B The locatiom of the impact sile in

Mexico was kept secret by geologists

from 1980 to 1990

(C) It

impacit

was a well-known fact that the

had occurred in the Yucatan

TegIon

() The Yucatan was chosen by

region
geologists as the most probable impact

site because of its climate

Whi

o con

h one of the following led the scientists
lude that a large meteorite had

impacted Earth ?

Al They discovered a large crater in the

Yucatan region of Mexico

(B) They found a laver of sediment

(C) Thev were alerted by archaeologists
who had been excavating in the
Yucatin region

(D} The sediments found were enriched
with Iridium

The word “intrigued” in the

pAsSSaEe

implies

(A) Puzzled

(B) Colluded
(C) Confused
(1)) Fascinated

S/FIPI1L/2019/ 2-A
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21.

22.

23.

24,
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Choose the best answer . Scientists have
linked the mass extinction at the end af the
Cretaceous period with a meteorite impact

on Earth because

(A) It is believed that meteorite activity
influences the evolution on Earth

(B] The site of a large meteorite impact at
the end of the Cretaceous period was
identified 1in 1990

(C) There have also been large meteorite
impacts on the surface of the Moaon,
leaving craters

(D) Large meteorite impacts, such as one

at the end of the Cretaceous period,
can seriously affect climate, ecological
niches, plants and animals

4

The linesx =y/4 +aand v = x/4 + b intersect
each other at the point (1, 2). Whatisa+b?

(A) O

(B) 3/4

(C] 1
D)y 9/4

A student has to obtain 33% of the total
marks to pass. He got 125 marks and failed
by 40 marks. The maximum mark is

{A] 300
(B] 400
(C] 500
(D) 600

When sun's altitude changes from 30" to
60°, the length of the shadow of a tower
decreases by 70 m. What is the height of

the tower ?

(A) 35m
(B) 140 m
(Cl] 60.6m

(D} 20.2m

[ P.T.0.
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’ 25. Ifa seller reduces the selling price of an item 29. A two digit number is represented as “lJ”.
If the value of J - I? is equal to ten times

from ¥ 400 to 2 380, his loss increases by i wadd )
the value of J — 1, the two digit number is

2% . What is the cost price of the item ?

(A) 26
{A) #1.,000
(B) B4
(Bl %800
(C) 48
(C) 11,200
D) 3
(D) 1,100
26. If 10 men or 20 boys can make 260 mats in Directions (Question Nos. 30-32) : Fill in the
20 days, then 8 men and 4 boys will make 0010 with the most suitable choice.
how many mats in 20 days ?
(A) 260
(B) 240 30 = customer not only returns back
=~ to vour organization but also recommend
(C) 280 you to othérs

Dy 520
(A) Patent

27. In a class, Ashwin finds that number of e e
students who have performed better than (C) Satisfied
him is thrice the number of students who
have done worse than him. 1T Ashwin’s rank
is &1, then the total number of students in

(D) Impatient

the clamie.squsl 1o 3. ____is considered as an aggressive
(A) BO behaviour and will most likely bring
negative response from the speaker.
(B) 8]
(A) Interrupting
(C} 82
(B) Yawning
(1 )] B8

(C) lgnorng

' ' ™ = - 7y
28. Ajayis standingwes! to Varun at a distance (D) None of the above

of 1 km. Ajay starts walking in the north

direction, whereas Varun starts walking in 32. A is a word which connects
the north-west direction. Both meet after words, phrases, clauses or sentences
20 minutes. The ratio of speed of Varun to

that of Ajay is (A) Preposition
(A I:_E :
AY h (B) Conjunction
B) 1/4/2

S (C] Interjection
(C) 2
D) 1/2 (D) Verb

S/F/P/L2019/ 2-A 11 [ P.T.O.
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38.

33.

34.

w494
& i 9f& v fwm & fov g
AT T B |

HFHT |
&R T WF 3 e Ve agd o
R

91 11 :
I W F THAEE T TR T
9RS T Herd |

(A) Fg7 7 ok gaer 1 a2

B) Fu= | ik v n ffea @

(C) FuA W 2] Ghewam fafeq 3

(D) = H & 8 ot Swern wv 1§ Bifia
CLil

¥ :
T} 7@ Fi @ w sy S s
F1 A 7= alla B |

HFeTA1 1 :
i, S T 3 e SO e a2 e |

e ||
81, TR N wom @ IeEA e
FEiTel 291991 1 3991 J7 TR |

(A) F4q ° Tk geea | Pl 2

(B) w2 1 fak g ) fafgg 2

(C) T W 2 daeqd fafzq 8

(D) #H1 # & FE ot e s o fafem
Tl 2

] :
A 369, dF o e § e s
Wawwmﬁﬁmm{wmﬁaﬁ
T T YT R T 2 |

HFeT |
Wﬂmqaﬁwfmmﬁagﬂ
o 938 & HHAT R |

TT"«F_‘U}”:
Wﬁzmw#wqmmnnmﬁg
HF # feru Sz 1 fozwm od 2

(A) e 8 fak deern | fafea 2

(B) Fua ok deweg 1 fRfes 2

(€) %9 § 2] HEHeuATd f4reg B

(D) FH1 & ¢ off FFey w99 § Bfea
T 2

S/FIPALI2019/ 2-A

A

36.

37.

38.

-4
S AR A A B B0 A e vt
AT F AW @ Ed SE-gEE ¥ o

sifiaer vt awgf wEEs # g
&

Hebet 1 1
TR 41 31 Bae sz v ) nfafafa
Tl T arefl B |

HHEYT 11 ;
88 1694 F 99 T8 IR F WA F
fer qrae TR #

(A) w | fad gwerr ) fifga 2
(B) o= 3 ik gweg 1 fifem 2
(C) F | 241 Aoand fifeq &

(D) 29 3 FiE ff gwewa waw | fifeq
EiA

o a1 8 30% FE , fed |8 30% sEEE
H (el # | o o 3w | e avel e
1 ufqeE 2

(A) 90%

(B) 60%

(©) 15%

D] 9%

Freferfian ye 4t w3 seeg (affw9) sinaf
%) yEEE |

REGISTRAR Ed .

(A) RARTZIO3A
(B) AAAT2IDIA
{C) REGISTRAR
(D) AAATZ23D3A
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33. Statement :
Government schemes are essential
for the growth and development of
the country,
Assumption [ :
Make in India campaign by the
government has become a great
SLICCESS.
Assumption I :
There are no such creative programs
previously launched by the
government.
{A] Only Assumption | is implicit
(B) Only Assumption 11 is implicit
(C) Both Assumptions [.and Ii are implicit
(D} Neither Assumption [ nor Il is
implicit
34. Statement :
Banning all types of liquor is the best
way to implement prohibition.
Assumption | :
Yes, by eutting the supply, people will
stop drinking.
Assumption IT:
No, it will lead to an increase in the
production of illicit liquer and the use
of drugs.
(A) Only Assumption | is implicit
(Bl Only Assumption 1l 1s implicit
(C) Both Assumptions | and [l are implicit
(D) Neither Assumption | nor Il s
implicit
35. Statement :
Chemical fertilizers, fuel and food
additives are all pollutants and all
pollutants affect our health conditions
sericusly.
Assumption | :
Using unleaded petrol in cars will help
reduce the pollution
Assumption [T :
Spraying pesticides on plants to kill
the pests is good to increase the crop
vield.
(A} Only Assumption | is implieit
(Bl Only Assumption [l is implicit
(C) Both Assumptions | and Il are implicit
(D) Neither Assumption | nor Il is
implicit
S/F/P/I1/2019/ 2-A

36.

37.

38.

Downloaded from: http://§tudymarathon.com/

Statemernit :

The Union Ministry of Communications
has recently launched ‘Deen Dayal
SPARSH Yojana', a pan India scholarship
program for school children.

Assumption I :

This scheme is to increase the scope
and reach in philately.

Assumption Il :

Children of age group 8- 16 years are
eligible to apply for this scholarship.

(A) Only Assumption [ is implicit
(B) Only Assumption Il 1s implicit
(C) Beth Assumptions [ and [l are implicit

(D) Neither Assumption | nor Il is
implicit

There are 30% girls in a class and in that
30% stay in hostels. The percentage of girls
in the class who are in the hostel is

(A) 90%

(B) 60%

(D) 9%

Identify the correct vertical mirror image of
the following word.

REGISTRAR

(A) AAAT2IDIA
(B) RAATZI23A
(C) REGISTRAR

(D) AAAT2303A

[ P.T.O.
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39. X, Y 3 z % foru u=ii #1 wan = |

42

|24 | 2
|

!Y 10| 8

L??xs,;'

(A) 1,19, 14
(B) 2,16, 16
(C) 3, 14,18
D) &, 12. 13

40. 3 ST Fio0 il UEEE i fo A9 2 fars
F 1§ 6 7% QeI B: e 1 A= A=
o HFAE |

/ |

5

ha

;i(.ij

S/FIPNT/2019/ 2-A 14

41.

42.

43.
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A HH-9 375 T w7

(A) P

B) Q

(C) R

(D) U

3, 3ife w0 8, sife off st e £
A, 71 Al 2 3 v, smE  w
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(A) 3 3 39 ==t wid (Hi)

(B] 154, 3769 % qyay &

(C) =&, sy & Aefish §

(D) sAfE 39 e w3
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(A) T4

(B) wré
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IRV T

39.

40.

Find the values for X, Y and Z.

42

24 FA ‘

Identify the cubical box that can be made
when the following figure with six faces
numbered from 1 o 6 is folded

1."\] 5 4

/

(B) ] 6

LA

o | 3

L [/
/3

o | 1 |2

S/F/P/1/2019/ 2-A
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41.

42.

43.

44.

When a dice has been thrown four times,
it produces following results each time :

" I 4
#

Which one of the following alphabets

contained face appears opposite to the face

")

having alphabet ‘8" in the dice ?

(A) P
Bl Q
(C) R
) U

Aruish is the son of Ambika; Ambika and
Avani are sisters; Aarti is the rmother ol
Avani and Aman is the son of Aarti. Which
of the following statements is true ?

(A] Aman and Arush are cousins
(B} Aman is maternal uncle of Arush

(C) Avani is the maternal grandmother of
Arush

(D] Ambika and Aarti are sisters

Pointing towards a man in the photograph,
a lady said “the father of his brother is the
only son of my mother”. How is the man
related to the lady ?

(A) Son

{(B] Brother
(C) Uncle
() Nephew

You are a traffie police officer. Car of the
MLA of your city jumps the red light al
the signal, What will you do ?

(A) Will overlook

(B} Impose a penalty

() Leave the car with a warning

(D] Will request the driver of car not to

do again

[ P.T.O.
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45, i3 g fofad M F1E v & foqu =

47.

(A) 5| AT H AT S 5t 6
FEI Bl

(B) 3T 2 F1 7 Wt ) gy 3
feu

(©) mm%#mwﬁwmm
qTEd 7

(D) wd 3w foRoe @ wme mie e

mmﬂmmnﬂmwwwﬁla,
38 Trferfiaa # @ 7 w2 5 3

{A) Tt

(B) el

(C) a9t

(D) 3% 3 | %18 7

vatEm w T =@ amm e A,
A HRITH F I o s gy
1 ur F v 7 s Fra w A 81 1 B
(A) T # SEge

(B) wieramy wfrada

(C) TETEe an

(D) writfeafad wing

3w (w7 #. 48 - 50) At T o v A o wem
dha?mmawmﬂ? [ s, 11 feu o & | g
7 faan # o 7 =1 3 | - 71 fau mu Fus
A fafeg &

48,

S/FIP/11/2019/ 2-A

FU
wrr"r:nﬁnncﬁfiexﬁf?lquﬂf{afm
T foven woneft 4 S FAT E |

HeFoqaT | -
UF =i 3Ifm srefitm =n 8 wam
& |

HFAA ]
A ¥ e e ard T 2 s |

(A) w93 3§ fak d@ern | v 2

(B) = | &k Haewn 11 e 2

(C) F4T R/ AT Gheqamd waraset

(D) 21 H § 1 off Twern aem 3 gwrasiet
T 8

»
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49,

50.

51.

e :
Aferm A gl § w o @
&1 gftfia saf a2

HHEHT |
fm#mmﬁmmmqﬁ
R B AT G 2 |

Heeqal [ ;
At wfrete syafy & @ are o
&1 %1 Yo #6 F vam = |

(A) w9 H ok dwew | wamEee 2

(B) %4 1 fak gaewn 11 wraeme 2

(C) =9 ¥ M1 dFeamd syrawe &

(D) 218 & Fd oft g F9T § gyraeneh
@ 2

EE
BN 52 37 I HE1 9red 2 |

HFoT I |
mn@iummﬁmmwamm
FA IR D |

HFAT |
Wﬁﬁmmﬁwﬁmgﬁzéﬂﬁ
T FIH1 76T Hi |

(A) *49 § Tk semeaan | waraene 2

(B) F94 1 % deean 1) pyEe 2

(C) F94 F 2151 FFeamd IETE 3

(D) 3 F = oft veporr w99 § wsrETeH
Erik

Fre=ifeia sifwsafa = awefiga sran 2 7
1

13
(A) 33
29

B) 33

) 13
32
D) 33
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45. In which of the following situations you

are most likely to send a card ?

{A) When you wish to seek emergency
medical appointment

(B) To wish new year greetings to your
friends

(C) You wish to watch a cricket match with
your friend

(D) You have to buy groceries

46. A person who shuns the company of
other people can be called a
({A) Recluse
(B] Solitary
IC) Ascetc
(D) None of the above

47. The impact of a person or community on
the environment, expressed as the amount
of land required to sustan their use of
natural resources is known as

(A) Environmental imbalance
(B) Climate change

(C] Global warming

(D) Ecological footprint

Directions (Question Nos. 48 - 50) : In each of the
questions below is given a statement followed by
two assumptions numbered [ and I1. Consider the
assumptions and decide which of them is implicit
in the given statement.

48. Statement:

Present education system must be
overhauled to improve the employimerit
situation in India,

Assumption | :
An individual would be able to eam
proper livelihood.

Assumption 11 :

The meaning of education in young
minds will be clearer

(A) Assumption | is strong

(B) Assumption ll is strong

(C) Assumptions | and [l are strong

(D) Neither Assumption I nor Il is strong

S/F/PN1/2019/ 2-A

49,

50.

61.

Statement :
Most of the job appointments have a
one or two year probation period.
Assumption | :
It is difficult to judge the abilities of
the candidate completely at the time
of appointment.
Assumption Il :
People try to demonstrate their
maximum potential during the
probation period.

{A) Only Assumption | is implicit

(B) Only Assumption Il is implicit

(C) Both Assumptions are implicit

(D) Neither Assumption I nor Il is
implicit

Statement :
The government wants to start the
bullet trains.

Assumption I :

A large number of rail passengers are
expected to use bullet trains.

Assumption Il :
Many people will switch from air travel
to bullet train.

(A) Only Assumption 1 is implicit

(B) Only Assumption Il is implicit

(C) Both Assumptions are implicit

(D) Neither Assumption I nor 1l is
implicit

What is the simplified value of the following
expression ?

1
1_
3+—-—31
3+—1
3+~
3
. 13
(Al 33
29
B) 33
8
(C) 13
) 32
D) 23

[ P.T.O.

Downloaded from': http://studymarathon.com/


www.studymarathon.com
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52.

53.

55.

Y000 0 O O 4 4
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(A) e frd ) wife
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EREay
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(C) A TEAE

(D) BEHZ GEEE
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Directions (Question Nos. 52 - 56) : Read {he
following excerpt and answer the guestions asked
at the end. The answers to the questions should be

based on the excerpt.

The notion that protective gear reduces the injuries
suffered in accidents seems at first glance to be an
obvious conclusion. After all, it is the intent of these
products to either prevent accidents from occurring
in the first place or to reduce the injuries suffered
by the wearer when an accident occur. However, the
conclusion that investing in high quality protective
gear greatly reduces the risk of being severely
injured in an accident may mask other potentially
more significant causes of injuries and may inspire
people to over invest financially and psychologically
in protective gear. First of all, as mentioned in the
argument, there are twp distinet Kinds of gear -
preventative gear such as light reflecting material
and protective gear such as helmets. Preventative
gear is intended to warn others, presumably for the
most part motorists, of the presence of the roller
skater. It works only if the “other” is a responsible
and caring individual who will afford the skater
the necessary space and attention. Protective gear
is intended to reduce the effect of any accident,
whether it is caused by another, the skater or
some force of nature. Protective gear does little, if
anything, to prevent dccidents but is presumed to
reduce the injuries that occur in an accident. The
slatistics on injuries suffered by skaters would
be more interesting if the skaters were grouped
into those wearing no gear at all, those wearing
protective gear only, those wearing preventative
gear only and those wearing both. These statistics
could provide skaters with a clearer understanding

of which kinds of gear are more beneficial.

S/F/PN1/2019/ 2-A 19

52.

53.

55.

Which one of the following can be best
concluded from the passage ?

(A) A preventative gear is expected to be
effective for individuals who will afford
the skater the necessary space and
attention

(B) A preventative gear is expected to be
effective only for individuals who are
motorists

(C) A preventative gear is expected to be
effective only when mndividuals wear
preventative gears

(D) None of the above

According to the passage, effectiveness of
the gears can be better understood

(A) By investigating the motor gears
(B) By investigating the skater gears

(C) By inspiring people to invest financially
and psychologically

(D) By rationally investigating the injuries
by regrouping them

According to the passage, which of the
following best describes the word ‘gear’ ?

(A) An equipment used for driving
(B) A machine part
(C) A toothed wheel

(D) A device for protecting a personnel

According to the passage, which of the
following can be used to minimize casuality
in an accident ?

{A) By using all protective gears
(B} By using all preventative gears
(C) By wearing reflectors

(D) By wearing helmet

[ P.T.O.
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S6.

57.

58,
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56.

57.

58.

S/F/P/I1/2019/ 2-A

According to the passage, a high reflecting
material

(A) may be used to minimize accident

(B)

may be used to minimize injury in an
accident

(C)

is a material that reflects light

(D) is a light material

A musical event of a famous singer is being
organized only for the employees of your
organization and their families. One of your
friend is a fan of this singer and requests
you to take him as your family member.
What will you do ?

(A) You will tell your friend that the event
is strictly for the family members and

that he cannot attend

(B] You will oblige your friend by asking him

ta pretend as your family member

(C] You will avoid taking your friend by

making some other excuse

(D] You will not talk to your friend for

asking a favour

You ordered a TV from a website. It so
happens that the TV falls down while
unpacking and gets damaged. You incur
significant financial loss. What would you
do ?
{A) File a refund pretending as if the TV
wias received as damaged piece

(B) Keep the TV and try fo get it fixed

(C) File a lawsuit for financial loss due

to packing issues

(D) Never buy a TV from that website

21

59.

60,

You have an exam tomorrow and a friend
of yours approaches you at your home for
help to understand Newton's law. What will

you do ?

(A) Ask your mother to tell your frniend that

you are not at home

(B) Meet your friend and tell him that you
don't understand Newton's law to save

your time for preparation

(C) Sit with your friend and try to explain

Newton's law to him

(D} Tell him that you will let him copy
in case Newton's law is asked in the

exam

You are a warden of a hostel. The mess
contractor files a complains that some
students take mess food to feed the stray
animals incurring financial losses to him.

What will you do ?

{A) Will pacify the situation and help in

making up losses in some other way
(B) Will try to avoid the complaint by
not responding so that there is no

problem

(C) Will levy additional charges on all
hostel residents to take care of food

expenses of stray animals

(D} Will investigate the matter and forbid

them from doing illegal activities

[ P.T.O.
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61. i U AT % HHY § agd deegy 2
it

(A) Feil 3 wreees Hid aa ol @ 0 B d
(B) Faregs F=i arforen vt & et 2

(©) Toga st %1 3vgmag mn

(D) 3TrEa | A wrd 7
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(A) SHYEEE

62.

(B) S7 AW
(C) peiteat @@ R
(D) 390t § 8 F:1E 79
63. Ml : Hrar-fa
(A) =T W
(B) = : WE-aw
(C) ﬁm:ga
(D) At : =

et Gba W H 256 1 HA¢T™ ‘you are good’
2 | 637 F HAGE ‘we are bad’ § 3R 358
1 Haed ‘good and bad’ ® | IH1 Ta am
# frafefes 8 4 #9-m1 e ana T =
3 F 8 7

(A) 2

B) 5

(C) 8

(D) 8
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AR 3 F Fx ) 3 g@ w0 13 8 | =0 =l i
%ﬁﬁwiﬁ%aﬁzmaﬁﬁa%mﬁwﬁ%uwﬁg
WA E |

PR w U 7 F A 43 ¥ o 3 ol i g e
& | SR A3 et oft 31 safeat & ot i sifaean
qE R |

A1 feg o 2 st et & sfeafim faend gof whififies
Fft # 3 =fFwal & s wdm )

V, SHIW AN pHEygd A d=r 3 |

R UFIWH s oF wiram i a1 3 |

66, fr=feifiga & 31 wa svmishim 33 #
(A) s3 o
B) vahs
() vahp
(D) V3o

22
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61. Energy conservation is very important
today because

(A) Sources of conventional energy are fast
depleting

(B) Electrical energy has become more
expensive

(C}) Electrical energy consumption is
increasing

(D) None of the above

62. P, Q, R, Sand T are to be seated in a
row facing north, but R and S cannot be
together. Also, @ cannot be at third place.
If Pand Q are together and R is at the first
place, then which of the following cannot

be true ?

(A) Sis at fourth place
(B) Sis at second place
(C] Pis at third place
None of the above

(D]

63. Mother : Parent

{A) Uncle : Nephew
(B) Sister : Sibling
(C) Father: Son

(D) Daughter : Sister

64. In certain code language, 256 nieans ‘you
are good', 637 means ‘we are bad’ and
358 means ‘good and bad’ Which of the
following correctly represents ‘and’ in that

code language ?
(A)

N

(B)
(€)
(D)

o W O

S/F/PIN/2019/ 2-A
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65. Assumption | :

]
Sandhya bought 7 —litres of oil. Out

3
of this, 5— litres is consumed. 15
4

litres is left in her kitchen.

Assumption 1I :
Arjun reads 3/5 of a book. He finds
that there are still 80 pages left to be
read. Total number of pages in the
book is 200,

(A) Only Assumption | is implicit

(B) Only Assumption Il is implicit

(C) Both Assumptions are implicit

(D) Neither Assumption | nor Il is
implicit

Directions ((Question Nos. 66 - 69) : Read the
following excerpt and answer the questions asked
at the end.

In & party, a square table with each edge measuring
200 em, is kept in the garden such that the four
edges of the table are either parallel to North - South
or East - West

Eight persons (P, Q, R, S, T, U, Vand W) are sitting
around this table facing the centre of the table. Four
persons are sitting at the corners of the table and
the remaining four are sitting at the centre of each
of the edge of the table.

P and W are facing each other and the distance
between them is the maximum possible distance
between any two persons sitting around the table.

The directions referred in the data and questions
below are with respect to absolute ones and are
independent of the orientation of the individuals.

Vis sitting North of S and East of P,
R is sitting North of U and West of Q.

66. The following two are sitting at equal
distance to W
(A) Sand Q
(B)] Vand S
(C) Vand R
(D) Vand O

| P.T.O.
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67.

68,

69.

70.

T4

sufd s& arff st FR A3 R 7
A) U
B) P
© T
(D) W

Wit % da fizf @
(A) 100
(B) 200
(C) 100V5
(D) 100v2

T % It ar afa o Frofefiea § 4 959 482
R/E 7

(A) ¥ Q

(B) QT w

(C) Faet R

(D) R3Mmp

FAWA A # T B I e B AB R |
yu fifvem ol &

(A) BEEH TR AR

(B) T ame) g o @

(C) Bl B ) g g ge v §

(D) B B Fafri aga g 2 &

= & 7§ snf #, AC + AB = 5aD 3R
AC - AD = 8 ® | 31| ABCD 1 89%¢ 2

D C

(A) 36
(B) 50
(€ 60
(D) 70

S/FIP/IL/2019/ 2-A

249

72.

73.

74.

(A0 A 0 0 0

e 5 <= g o Ry on 2, 9w war faat
&1 UF i ° v S | v e & e,
& & Wit #7 arqm siveafir & dewe
AT WA 8 | J % IW A 19T w1,
s faari A e adi £ |

”~ . _,/‘ N
/ N/ N

/

(A) 16fr- 1)
(B) 16(16 - a)
(C) 16(4 - 7)
(D) 16(4 -n/2)

2/5 HaEaal 3 gl A F1 A2 33 w1 am
o ot &t 3 yamh B = a2 & W1 am
T | 98 @ 15% " 3 veanht A R ER
24 & W T8 ) arg B i 259 waeETe
T ywarel 51 A2 3 & I A =i are
SETSt A 200 A1 B #R T | HaEana 4 Fe
HE B

(A] 10000

(B) 11000

(C) 9000
(D) 9500

T F A 40% FHAr [ § s 75% g
wfa = ¢ 25,000 8 fus =wm # | 2f2 St
F 45% FH=T ufd = 2 25,000 8 i Fod
#, @ Fu | sl wieensit s e sin uf

a4 2 25,000 91 308 FH FHER 7
(A) 2711
(B) 1/4
(c) 1/3
(D) 3/4

Downloaded from: http://studymarathon.com/

L



www.studymarathon.com

67.

68.

69.

70.

71.

S/F/PA1/2019/ 2-A

Who is sitting to the left of the person S?

Ay U
(B) P
C) T
D] W

The distance between Wand R is equal to

{A) 100
(B) 200
(C) 100v5
(D) 10052

Who of the following is/are sitting either
North or South of T ?

(A) Only O

(B) Qand W

(C) Only R

(D) Rand P

Cell phone usage has been steadily
increasing in recent times. This definitely
means that

[A) Cell phones have become cheap

(B) People started getting more income
(C) Many cell phone shops have opened
(D) Cell phone companies give many
advertisements

In the figure below, AC + AB = 5AD and
AC - AD = B. The area of the rectangle
ABCD is

D c

(A) 36
(B) S0
{C) 60
(D) 70

25

72.

73.

74.

As shown in the figure below, four identical
coins are placed in a square. For each coin,
the ratio of area to circumference is same
as the ratio of circumference to area. Find
the area of the square that is not covered
by the coins.

"
\ ;

~ - -
>~,—;

.f/r ﬁ\\‘ }

//' ES / B
,.‘/

(A) 16(x-1)

(B) 16(16 - )

{C) 16(4-nx)

(D) 16(4 -=n/2)

2/5 of the voters promise to vote for A and
the rest promised to vote for B. Of these,
on the last day 15% of the voters went bacl
of their promise to vote for A and 25% of
voters went back of their promise to vote
for B. A lost by 200 votes. Then, the total
number of voters is

(A) 10000

(B) 11000

(C) 9000

(D) 9500

40% employees of a company are men
and 75% of the men earn more than
¥ 25,000 per year. [ 45% of the company’s
employees earn more than ¥ 25,000 per
year, what fraction of the women employed
by the company earn ¥ 25,000 or less per
year ?

(A) 2711
(B) 1/4
C) 1/3
(D) 3/4

[ P.T.O.
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75. p¥MgfmafiFm - (o -2x-a-1-0 77.
FHAR | pr+ o T A WY A 18 7

(A] O
(B] 3
(C) 4
(D) 5

fdw (wa #. 76 - 80) - fi¥ o o uwE F I A
# for Fsfafen an-ad @1 wmagEs spag )
an-=1 94 2015 ¥ yW g #9120, R, §
av ) s 3l = (vma s H9) w9
| Tl et = witera &y o @i (% @n e -

R - 51, 100 T B s |

|
&

SN

S

RN

80.

76. WAl i A A 2015 # Fa=fetae 1§ @ e
1 3 SAfeman = FaE ¢
A Q
B) T
(€) R
D) S

S/F/P/1/2019/ 2-A 26

78.

79.

0 0 O O
el i = 2015 8 Frfefias F 3 fea F9
%1 wad HiuE JHEaE g U1 ?

(A) P
(B) ©Q
C) R

(D) S

ad 2015 F qr=t FafEt 1 5 s /af afaea

1 e ?

(A] 6.5% w1
(B) 7.5% @™
(C) 5% &

(D) 5% B

p R @ FafE = Fe o /e g o

2015 0 & a1 7

(C) 6.25% =M™

(D) I8 THETE @ 3 HE Ty

A S A 2014 F 20% FTHAE g3 N
3t 38 2015 1 FuAt i s ad 2014 § IH4
WA H 25% e At | 34 2014 4 35 =49
(arE w9 o) Fr ¢

(A) 320

(B) 360

(C) 400

D) 420
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75.

Let p and g be the roots of the quadratic
equation x? - (o - 2)Jx -a - 1 = 0. What is
the minimum possible value of p?+ ¢* ?

(A)] O

By 3
€) 4
(D) 5

Directions (Question Nos. 76 - 80) : Study

the following bar-chart carefully to answer the

questions given below. The bar-chart indicates

the income and expenditure (in lakhs of rupees)

of five mobile companies (P, Q, R, § and 7} in

the year of 2015. The percent profit or loss

of a company is given by (% Profit/Loss) =

Income - Expenditure

x 100

Expenditure

® Expenditure & Incame

Name of mobile company

76.

Find out which of the following companies
earned the maximum profit in the year
2015 7?

(A)
(B)

(C)

0 [/ T O

(D)

S/F/P/11/2019/ 2-A

77.

78.

80.

Find out which of the following companies
had the maximum loss in the year 2015 ?
(A) P

(B) Q
C) R

D) S

What was the profit/loss percentage of the
five companies together had in the year
20157

(A) 6.5% loss

(B) 7.5% profit

(C) 5% profit

(D) 5% loss

What was the profit/loss percentage of the
companies Pand Q together had in the year
20157

(A) 5.25% profit

(B) 5.25% loss

(C) 6.25% profit

(D) No loss and no profit

The company S had a loss of 20% in the
year 2014 and the company’s income in the
year 2015 was 25% more than its income
in the year 2014. What was its expenditure
(in lakhs of rupees) in the year 2014 ?

(A) 320
(B] 360
(C) 400
(D) 420

[ P.T.O.
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fdm (wes 9. 81 @ 85) : 2w mu werYr % amuw W
Frafafan weat & 3w oo

TET - 1

wifeai=la % AE A e F T S HEeE
2 | 979 T wfeed & Sfiam i wan, qfe s sifiefa
el 8 | JEARICTS TYAAT & §iawrd 1 Sfid1-smen e
21 #l & 99 W AdHE STE F) 39 sdE ihE w
T R | G VA F foro g el ag i R el e
faeFr § 3 7F o e pER R A R E |
TEe Zarer, e i guer = el F wE
4 9 | 3 sifafem, FEseEl F s B gases
off &1 & | Havren & nfarRr # O gEE w G0E
FT et I ate Tiel A6 T 9 | ST W
foufa % oo # fedt wafs o 2, 35l =
faai wfi-afi vw-us g $i d9rl @ o s
i | 9RE % G JER ST ST @ 6 W 9
WA e # TR g GEE & 'Y a9 ad fTufa

@ | =i, s wyi g w2 F e R
] ATV, A A 31 A 4 |

81. TEHICHl % gNI fbw s o 1, gfe sl
wftgiy aidi 2 ?
(a) wfes $
(B) 44 i
fc) T
(D) aHE H

82. Wifer i I F wreHl # yEegyl v
fram 2 ?
(A) A
(B) faemem
(C) Tureia
(D) gEaFEa

S/F/P/11/2019/ 2-A 28

R0 G0 AL D
83. WAl % yiowm @ St - e 2
(A) TETTE
(B) T9<d
(C) =T
D) fFaem

84. R Fal F NIRRT F Taet HA-6 FH
S o1 7

(A) TEI 1 o
(B) S@H F WG A
(C) =T I &R
(D) TEA-TTEA
85. IWiw e i 3fa i R

(A) GETRIGE SR A
(B) P v e

(C) T iR e
(D) T 3R I

fadw (wva 9. 86 @ 90) : f2u 7w AW & MR W
Feferiaa weat & 3w difse |
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|0 GO A i

. v (w99 4. 91 4 9s) : & v 7am & U W@
Freferfian woat & 3=n fifso |
X RNV - 3

TOTET. T W F W wE amE J7 A T
aTet gfaeig @1 wiEar 3 39 3 F9eed A iy
o | Haga diee |l aFEes 3 a-sre e e |
el fi= amg e = W A, ST w1 A
A FAHTY AN IEF T FEE F FAEF e
F TN | IEY WS A e 3 36 3 W
Fe | Ffcaa| 4 T F) A | 5 B | a9F 5
BT HUBY & U 311 81 77 o 5 af s 3 | i
T2 A A7 TB] AT FAAI G WA w9
f & s faan ) 9oy =01 w1gen 3 & @ | Al
13 A4 9= 81T |

3
91. wiilaa i fag =M 3 v fEm an ?
(A) 1
(B) WREN
(C) :If'ﬂ’F;
(D) #
92. THUSA 4 F4-H7 97 4 7
(A] B9
(B) famqas
(C) Hws
(D) HE®E 49
93. TIHGE & 33 1 wuiH R # 7
(A) 7Tt iy |
(B) #TET=®
¥ (C] I
: (D) AR
.

S/FIPII/2019/ 2-A 29 [ P.T.O.
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V0 A T

94, e T A e w7 96. TN 7Y ¥ fFad REm gu 7
o) w3 @)
(B) =@ A (B)
== (C] =1
(C) Wl A .
(D) 9=
(D) &=
97. W AfiNS I T TR FI w4 GeE 4 7
95. THHEE F e =1 A w7 (A) TETIFAH
(A) wdiida (B] &g &4 #l
B) 3 (C) AAwE H
©) SR (D) Has F 6l
(D) 3w 98. e afirs I 7y i & for g wefl @1 am
o 7
oo (997 /. 96 & 100) : v 70 MY F anAW W jA) Tawenfig
Frerferfa weeit 3 e A | B Fh
iV - 4 32
y (D) AR
T geny i faamm g ov o) 395 e i seuieh
T § | T F AT F G TG AN, o9, e 2y 3 Fred wems dm smw i ?
e 3T e ST e ST o e | vl afirs )
e = (B) |¥TEEl
3 398 Far-1re e Fel-wroy § gd 8 oft 39 v o
1 g N g B | wens feef ) wa e wf (€)= g
el oft, 7 e oft SvrgEa & S w e g (D) wnfafeat &
a3 w41, Tores afvmraEsy s $a o w #
7 11 o | A O A uffeE s g e 100 S e % g e A A 7
73 T A F | SATH FEE GE@E FA 9w (A) FFTF
A # e & 2w wefl gft sngdeed 3 oW & (B)
E%lmﬁﬂuﬁﬁamaﬁmmﬁ,aﬂ © ok
ity (D) SR
S/FIP/I/2019/ 2-A 30
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S O

% %14 /| ROUGH WORK

»
4

S/FIP/ITI/2019/ 2-A 31 | P.T.O
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SEAL

% T4 /| ROUGH WORK

S/F/P/11/2019/ 2-A 32
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